Problem 1: Current Assets and Liabilities:Chapter 003
In-class problem set
03

The following December 31, 2018, fiscal year-end account balance information is available for the Stonebridge Corporation:
	Accounts
	$$

	Cash and cash equivalent 
	5,000

	Accounts receivable
	20,000

	Inventories 
	60,000

	Property, plant, and equipment (net)
	120,000

	Accounts payable
	44,000

	Wages payable
	15,000

	Paid-in-capital
	100,000


The only assets not listed is short-term investments. The only liabilities not listed are $30,000 note payable due in two years and related accrued interest of $1,000 due in four months. The current ratio at year-end is 1.5:1.

Required:
Determine the following at December 31, 2018:
1. Total current assets.
2. Short Term investments
3. Retained Earnings

Problem 2: Balance Sheet Classification:
The following are the typical classifications used in a balance sheet:
	a
	Current assets

	b
	Investments and funds

	c
	Property, plant, and equipment

	d
	Intangible assets

	e
	Other assets

	f
	Current liabilities

	g
	Long-term liabilities

	h
	Paid-in-capital

	i
	Retained earnings



Required:
For of the following balance sheet items, use the letters above to indicate the appropriate classification category. If the item is contra account, place a minus sign before the chosen letter.

1.	        	Equipment	
2.	        	Accounts payable	
3.	    	Allowance for uncollectible accounts	           
4.	     	Land, held for investment	
5.	     	Note payable, due in 5 years	
6.	        	Deferred rent revenue for the next 12 months 	
7.	        	Note payable, due in 6 months	
8.	         Income less dividends, accumulated	
9.	       	Investment in XYZ Corp., long-term	
10.	          Inventories
11.	        	Patent
12.	         Land, in use
13.	        	Accrued liabilities
14.	         Prepaid rent for the next 9 months
15.	        	Common stock
16.	         Building, in use
17.	         Cash
      18.         Taxes payable

Problem 3: Balance Sheet Preparation:
The following is a December 31, 2018, post-closing trial balance for the Jackson Corporation. 
	Account Title
	Debits
	Credits

	Cash
	$40,000
	

	Accounts receivable
	34,000
	

	Inventories 
	75,000
	

	Prepaid rent for the next 8 months
	16,000
	

	Marketable securities (short term)
	10,000
	

	Machinery
	145,000
	

	Accumulated depreciation-machinery 
	
	$11,000

	Patent (net of amortization)
	83,000
	

	Accounts payable
	
	8,000

	Wages payable
	
	4,000

	Taxes payable
	
	32,000

	Bonds payable (due in 10 years)
	
	200,000

	Common stock
	
	100,000

	Retained earnings
	_______
	48,000

	Totals
	$403,000
	$403,000



Required:
Prepare a classified balance sheet for Jackson Corporation at December 31, 2018. 
Problem 4: Calculating Ratios
The 2021 balance sheet for Hallbrook Industries. Inc., is shown below.
	HALLBROOK INDUSTRIES, INC.
Balance Sheet
December 31, 2021
($ in thousands)

	Assets

	Cash
	$200

	Short-term investments
	150

	Accounts receivable
	200

	Inventory
	350

	Property, plant, and equipment (net)
	1,000

	Total assets
	$1,900

	Liabilities and Shareholders’ Equity

	Current liabilities
	$400

	Long-term liabilities
	350

	Paid-in capital 
	750

	Retained earnings
	400

	Total liabilities and Shareholders’ Equity
	$1,900



The company’s 2021 income statement reported the following amounts ($ in thousands):
	Net income
	$4,600

	Interest expense
	40

	Income tax expense
	100

	Net income
	160


Required:
Determine the following ratios for 2021:
1. Current ratio
2. Acid-test ratio
3. Debt to equity ratio
4. Times interest earned ratio
